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fite—: " 2 M 2025 41 B 23R RS R T E F &

AR = A A = AL CPU(E) | A# (GB) SSD/ESSD (GB) % &

ecs.nd. large 2 4 50 1
ecs.nd. large 2 4 50+1500 1
=M I 4 BCS ecs. snlne. lagrge 2 4 100 1
ecs.n4, xlarge 4 8 50 2
REHE SLB slfﬁ%miu ) ) ) :
/AW EIP B 5 1OM - - - 2
P R M - - - 1
5P EIP M A 5 60M = = 1
B 25M - - = 1
Ak NAT ] % NAT W% (% AL) a = - 1
VPN ] % Ipsec VPN 50M = = = 1
0SS 7 i 7 i1, (2TB) - - = 1

q A 3 Tl 42, EBHEAE: OV A E
cpapy | AR DK RERSBLW 60 8 |

LM 300068, FF#E: 3600GB

P i Wi PEAH, BRA: B, APl 4

WEB ji F s k3 | R, BAY R 1, BEERS: AR, BEF| 1
A E: 3 TB
NAT M % NAT B x (/NAED) = - - 1
VPN [# & Ipsec VPN 5M - - - 1
Py B AP EIP M 10M - - - 2
B ecs.gla. large 2 8 100 6
23 BCS ecs. gla. large 2 8 100+200 1
=3 4E )= RDS Mysql5. 7 & A 4 16 1000 1
eecs. cb. 2xlarge 8 16 100+2000 2
ecs. c6. 2xlarge 8 16 100 8
ecs.ch. xlarge 4 8 100 4
ecs.c7. 2xlarge 8 16 100+1000 2
) ecs.c7. xlarge 4 8 100 1
%= | =R%HHECS

ecs. g7a. 2xlarge 8 32 100 5
ecs.n4. large 2 4 50 3
ecs.nd. xlarge 4 8 50 7
ecs.n4d. xlarge 4 8 50+1000 1
ecs.gla. large 2 8 100 3




N

" ecs. gbe. xlarge 4 16 100 2
ecs. sb—
4 8 50 2
clm2. xlarge
Mysql5. 6 & ¥ J 16 64 4000 1
B MysqlS. 6 Riz)E 16 64 4000 1
ZHARE RDS
Mysql5. 6 & & A 16 64 2000 1
Mysql8. 0 % = A 16 64 2000 1
NAT ] % NAT B % (/pAR) = = = 1
BN EIP B F SM - - = 1
M\ EIP MR 10M - = = 1
A5 = VPN ¥ % Ipsec VPN 5M - - = 1
ecs. cbe. xlarge 4 8 100 5
5 ECS
=hF B ecs. che. xlarge 4 8 1004500 1
342 = RDS Mysql5. 7 & ¥ A 8 16 500 1
NAT [ % NAT B % (/pAL) = = = 1
A B BIP B SM - 5 = i
#pE/F EIP B S LM - - - 1
Ao B ecs. ghe. 2xlarge 8 32 200 &
Z Bk %5 2 ECS
ecs. che. 2xlarge 8 16 200 2
e 3E = RDS Mysql8. 0 &7 A 8 32 500 i)
NAT P % NAT B % (/pARL) - - - 1
VPN ¥ & Ipsec VPN 5M - - = 1
B\ EIP B A 5 10M = - = 2
ecs. ch. xlarge 4 8 300
= IR %2 BCS ecs. gb. xlarge 4 16 200 3
A4 ecs. c6. 2xlarge g 16 200 2N
ZHAEERDS | Mysals. 7 & A 8 16 500 17_|
WA Ak, RARSHEELIC 6, WH ol
% & 1 =
CEEER %: 360, 300
2R YERA: BAM, THHAR IP F 20 A % |
Z B kI AP EAERS: 10 Mops, FMEERE | 1
1A, BEM: B, BEEMAE: 1000 68|
5 4 % EIP W T M - - - 2
ecs. ch. xlarge 4 8 50 5
% Wae = R %2 ECS ecs. cb. xlarge 4 8 50+1000 2
ecs. cbh. 2xlarge 8 16 50 i
= $% 4% & RDS Mysql5. 7 & ¥ A 4 8 1000 1




